Varied Fluency
Multiply by 3

Developing
10.3+3+3+3+3+3=18
2a. False, 9 groups of 3 is 27.
3a. 7 lots of 3 = 21
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Expected
50.3+3+3+3+3=15

éa. False, 12 groups of 3 is 36.
7a.6lotsof 3=18
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Greater Depth

90.3+3+3+3+3+3+3+3+3+3=30

10a. True

1Ma.3+3+3+3=12;4x3=12

Varied Fluency

Multiply by 3
Developing
1b.3+3+3=9
2b. True

3b. 10 lots of 3 = 30.
4b-[ 3+3+3+3
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Expected

5b.3+3+3+3+3+3+3=21
éb. False, six groups of three is 18.
7b. 8 lots of 3 = 24

Greater Depth

9.3 +3+3+3+3+3+3+3+3=27
10b. False, the answer is 27.
1MMb.3+3+3+3+3+3+3+3=24:8x3
=24
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3+3+3+43+3
=15
3+3+3+43+3



Varied Fluency
Divide by 3

Developing
la. 5

2qa. False, 24+ 3 =8
3a.7
40. 18+ 3=6:9+3=3:6+3=2

Expected
5a.8

éa. False, 18+ 3 =6
7a.11
80.12+3=4:27:3=9:36+3=12

Greater Depth

9a. 12
10a. False, 21 +3=7

11a. @

120. 36 +3=12:18+3=6:21+3=7

Varied Fluency
Divide by 3

Developing
1b. 4

2b. False, 27 =3=9
3b.5
db.24+3=8:12+-3=43=3=1

Expected
5b. 6

éb. False: 30+3=10
7b. 9
8b.24+3=8:156+3=5:33+3=11

Greater Depth

9b. 9
10b. True, 33+3=11

11b. e

12b.24+3=8;33+3=11;27+3=9




